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> AnovaModel.l <- aov (HOEE ~ M, data=Dataset)

> sumerary [AnovaModel. 1)

Df Sum 3g Mean 3g F wvalue Pri=F)
&R 5 10,9457 2.15891 4.5294 0.001175 +*
Residuals 45 21.7551 0.4533
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> TukeyH3D(aow (B E "™ .data=lataset))
Tokey multiple comparisonz of meansz

45% family-wise confidence level = N
SREEEHDpl

Fit: aov(formale = BBEE 7 &, data = Dataset)
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« ARVESAVKYUTOIARURERT

BEZEH ESVES REEAR
azi<-aovik~imE+ERFFEREHR EF SRR
,data=Dataset)
summary(azi)

> oSumnary (azi)

Df Suwm 3q Mean 3g F wvalue Fr (>F)
BE 1 67.500 67.500 21.3158  0.00011 ##%
FRtFEXE Z 155.000 77.500 24.4737 1.608e-06 #w#
BEEMVEEE 2z 15,0000 7.500 Z.3684 0.11515
Residuals 24 76.000  3.167
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« TukeyHSD(azi)&k¥}i2%a

> TukeyHSD (azi) $ERFHIEZE
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diff lur upr r adj
1 3.5 1.51260Z291 5.437397 5.44051%=-04
1 5.5 3.51260291 7.4837397 1.111275e-06
2 2.0 0.01260291 3.987397 4.835626e-02
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> TukeyHSD(azi) §;2E

diff lwr upr p adj
2-1 -3 —-4.341093 -1.653907 0.0001100036
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> oSutmary (azl)

Df Sum Sq Mean 2g F walue Pr(=F)
=E 1 67.500 67.500 21.3158  0.00011 #%%
BTyl iERE 2 155,000 <77.500 24.4737 1.608=-06 %%%
BEETHIEXE 2z 15.000 7.500 Z.3684 0.11515
Residuals Z4 76.000  3.167
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